Lesson 1.10 Composition of Functions.notebook

Lesson 1.10 Objective: SWBAT find the composition of
functions.
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y +3x+4=0§find the equation of the line

Giveng
perpendicular and that passes through (-3, 5) in
generai form. m = 9.3
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Examples: Given f(x) = 3x — 2 and g(x) = x? — 3 find each of the following:
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Examples: Given f(x) = 2x — 1 and g(x) = 2x? — 3x find each of the following:
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1) If f(x) = 5x* - 1 and g(®) = 3x - 1, find g(£(1)).
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3)IF£(x) = 2x- 5 and (x) = ~/x , evaluate (E° )(36).
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5)If f(x) = x* +4 and g(x) = 2x+ 3, find f(g(- 2))

7)If§x) = 2" = 1 and g®) = x* - 1, find (£* )(3)
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9) If f(x) = 3x- 5 and g(x) = x- 9, find (£ (). ORISR eI
INCY) =3ﬁ313—5 f(3x15)= A(3x15) -
= = GX+]10~I
o ]’@ = bx+9
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11) If f(x) = 3x+ 5 and g(x) = x* + 1, find g(f(x)).

15) Given: £(x) = ~/2x+ 5 and g(x) = 6x- 3,
a. Find g(E(10))
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